DHSEE TERbt 5— HIFEET—42

1. RAKE (1 BFEL) 91,060 m3/H
2. FKT—FF4£=E(1BFEY) 66.2 t/H
3. Bk —FxmiE (1 HF) 1122 t/H
4. JARFEAEE (1 BFEL) 1.88 t/H
5. KEREARBERETHE)

I % AT K [ B 5 K EEE
X = °c] 22 25 -
BRE [E] 6.9 100< -
KEAFVEE -] 7.9 7.0 5 8~8.6
FENEE [mg/L] 140 2 40
EPLENBEERE [mg/L] 170 4.0 15
LZHBEERE [mg/L] 100 8.2 25
FET L F [mg/L] 4 12 =
FUEZTHESR [mg/L] 22 6.0 -
ERBEES [mg/L] 0.1 0.6 -
WEREER [mg/L] 0.1 7.0 -
HEHUER [mg/L] 18 2.5 -
A 4> [mg/L] 120 74 -
A RSO LRUZDIEED [mg/L] 0. 003 <0. 003 0.03
TT7 AW [mg/L] <0.1 0.1 1
ARELED [mg/L] 0.1 0.1 0.2
WRUZDIEEY [mg/L] <0.01 <0.01 0.1
AES OLIEED [mg/L] <0. 05 <0.05 0.5
WERVZDILED [mg/L] <0. 002 <0. 002 0.1
R T [mg/L] <0. 0005 <0. 0005 0.005
7 ILFILKERIEED [mg/L] <0. 0005 <0. 0005 T
RUBIEET T =)L [mg/L] <0. 0005 <0. 0005 0.003
rysOOIFLY [mg/L] <0. 002 <0. 002 0.1
FFS/O0TIFLY [mg/L] <0.002 <0.002 0.1
B [mg/L] <0. 002 <0. 002 0.2
miEtRE [mg/L] <0. 002 <0. 002 0.02
12-S/00I8y [mg/L] <0. 002 <0.002 0.04
11-SHAnTIFLY [mg/L] <0. 002 <0. 002 1
SR 2-SHOOTIFLY [mg/L] <0. 002 <0.002 0.4
1,1,1-k)yonxay [mg/L] <0. 002 <0. 002 3
112-FJpOOTEY [mg/L] <0. 002 <0. 002 0.06
13-oon7aky [mg/L] <0. 002 <0.002 0.02
L4&-SH¥yy [mg/L] <0.05 <0.05 0.5
FIS L [mg/L] <0. 005 <0. 005 0.06
TRTY [mg/L] <0.002 <0. 002 0.03
FAROAILTD [mg/L] <0. 005 <0. 005 0.2
Rt [mg/L] <0.002 <0.002 0.1
ELURUZDILED [mg/L] <0. 001 <0. 001 0.1
E>ERVZDILEN [mg/L] 0.08 0.06 230
SORRUZDILEN [mg/L] <0.1 0.1 15
et Yoy 6.8 120
D [mg/L] 13 a % hsﬁt@'%*ﬂi%%w
S/ LEahE [mg/L] <0.2 <0.2 0.5
WaaE [mg/L] <0.05 <0.05 3
BHEAE [mg/L] 0.05 0.02 2
ERENEEE [mg/L] 0.12 <0.08 10
BENVY S U EhE [me/L] 0.032916667 <0.03 [
HOLEER [mg/L] <0.05 <0. 05 2
ABEEN [1@/mL] 267, 000 181 3, 000
HEaE [mg/L] 3.8 1.5 -
=y LRUZDIEEN [me/L] <0. 06 <0. 06 1
BA 4 U REEEA [mg/L] 2.9 <0.03 -

MEAEME  KE FAN LA (BN4SERFEEL8E) IRV #R)IREFREORESECET HEH(FER
FEME)REHIFEIST) ), [TKEXEBFISIEEREETID)IICKDEHE

6. FAAFL UEAERR(ETHIE)

B AT 5K R K EEE
Hfs [pg-TEQ/L] 0.34 0. 00096 10

KELEE T H (4L VAR RIEER (TR 11 FER% 105 5) 1ICk 8%

7. BEEFEHA AT AF XL HAERR

—5iF —5IF =5
41 [ng-TEQ/Nm*][ 0. 00000077 0. 0000061 0.0013
EE(E 5 5 1

NEEMD T (7T VEN R ER CER 1 £33 105 5) 188 %E



